Mathematics 11U

3.6 — Zeros of a Quadratic Function

Mr. D. Hagen



Zero, One, or Two?
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Three methods to determine the number of zeros.
1. Graph it.
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3. Algebra!
—b+ sz —4ac >
Recall: X =
2a

To find the number of zeros, just look at the radical, or more
commonly known as the discriminant.

If,
b? —4ac >0 , then there are 2 zeros. J 9 = *)

If,
b’ —4ac =0, then there is 1 zero. \'5 1 - 0

If,
b’ — 4ac < 0 , then there are 0 zeros. ‘j —9q - unal’Q“‘/



Example:

f(x)=-2x*+6Xx—9 o mom zeros?
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The curveball...

a ., b C
f(X)=-2x"+3x+k
Solve for k so that f(x) has only one solution.
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